
SAP ABAP table JHTVAABP {IS-M/AM: Contract Settlement Item Data}

JHTVAABP

MANDT [CLNT (3)]

VTNR [NUMC (6)]

ABRGNR [NUMC (4)]

APOSNR [NUMC (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

REGULIERER [CHAR (10)]

INSERENT [CHAR (10)]

TRENNUNG [CHAR (10)]

POSNR [NUMC (4)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

GRUPPABRNR [NUMC (3)]

ZW_AVM_NR [CHAR (10)]

ZW_POS_NR [NUMC (3)]

ZW_GRABRNR [NUMC (3)]

VGOBJ [CHAR (2)]

WAERK_OLD [CUKY (5)]

KURST [CHAR (4)]

FAKBELNR [CHAR (10)]

FAKPOSNR [NUMC (6)]

KALSM [CHAR (6)]

ZWGRFTYP [CHAR (1)]

JHAGA

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

GRUPPABRNR [NUMC (3)]

 JHTVAABP-GRUPPABRNR = JHAGA-GRUPPABRNR 

0..N

1

 JHTVAABP-ZW_GRABRNR = JHAGA-GRUPPABRNR 0..N

{0,1}

JHAK

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

 JHTVAABP-AVM_NR = JHAK-AVM_NR 
0..N

1

 JHTVAABP-ZW_AVM_NR = JHAK-AVM_NR 0..N

{0,1}

JHAP

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

 JHTVAABP-POS_NR = JHAP-POS_NR 
0..N

1

 JHTVAABP-ZW_POS_NR = JHAP-POS_NR 0..N

{0,1}

JHTFK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 JHTVAABP-FAKBELNR = JHTFK-VBELN 
0..N

1

JHTFP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 JHTVAABP-FAKPOSNR = JHTFP-POSNR 
0..N

1 JHTVAARI

MANDT [CLNT (3)]

VTNR [NUMC (6)]

ABRGNR [NUMC (4)]

REGULIERER [CHAR (10)]

INSERENT [CHAR (10)]

TRENNUNG [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 JHTVAABP-ABRGNR = JHTVAARI-ABRGNR 

0..N1
 JHTVAABP-INSERENT = JHTVAARI-REGULIERER 

0..N
1

 JHTVAABP-TRENNUNG = JHTVAARI-INSERENT 

0..N

1

 JHTVAABP-VKORG = JHTVAARI-TRENNUNG 
0..N

1

 JHTVAABP-VTNR = JHTVAARI-VTNR 0..N1

JHTVPO

MANDT [CLNT (3)]

VTNR [NUMC (6)]

POSNR [NUMC (4)]

 JHTVAABP-POSNR = JHTVPO-POSNR 

0..N

1

T000

MANDT [CLNT (3)]

 JHTVAABP-MANDT = T000-MANDT 

0..N

1

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)]

 JHTVAABP-KALSM = T683-KALSM 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 JHTVAABP-WAERK_OLD = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 JHTVAABP-KURST = TCURV-KURST 

0..N

1

TJH97

MANDT [CLNT (3)]

OBJKT [CHAR (2)]

 JHTVAABP-VGOBJ = TJH97-OBJKT 

0..N

1

TJHVAZW

MANDT [CLNT (3)]

ZWGRFTYP [CHAR (1)]

 JHTVAABP-ZWGRFTYP = TJHVAZW-ZWGRFTYP 

0..N

{0,1}


